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Instructions ;

(i)  Allquestions ar_é compulsory.-

(il  Question No. 1 is objective type question, which'qoi_ltai_ns 4 sections.'
Section A, Scction B, 'S_ection C, and Section D E.ac.h. questid'ns carry 1 |
mark. | |

- (iii) X Questi()n No. 2 to 13 are very short answer type queétions. Maximum
word;limit qf an'swerr is 30 words. Each questions carries 2 marks.

(iv)  Question No. 14 to 19‘are short answer type questions. Maximum v&ord- |

limitof answeris S0 words. Each questions carries 3 marks.
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) .Qucstion No. 20 to23 are shqrt answer type (jucstions. Each question has - |

an internal choice. Maximum word liﬁxit pf answer is‘75 words. Each
quéStions carries 4 mﬁks. :

(vi) R Question No. 24 to 25 are long answer type questions. Each question has -
an Aintcrnal‘ choice. Maximum v?or‘d limit of anchr is 100 Words. Each
-quesfior{é carries 5 marks.

(vil) Question No. 26 to 27 are long dnéwer type questions. Each question has
an internal choice. .Maxi‘muni word limit of answer is 150 words. Each

questions carries 6 marks.

(@vE - 3)
| (Section-A) |
T -(a)ﬁﬁﬁmgﬁqf o Crsos ]
| (A) Choose the cofrect oi)ﬁon- | | | S
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(i)

(ii)

(i)

)

Human wants are satisfied by consuming -

(@) Goods )

| (B) Services

(¢) Bothgoodsand services

(d)‘ None of the gbov‘e.
Pt & Sy i
(a1) e

() YFfAFITR

- (W) " Wi

'(E) st

Which one of the following is nota characteristic of land:
(a) Mobile

(b) Giftof nature

(¢) Limited in quantity

(d) Indestructible.
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(i)

®)

: '_(ef-{) 7

(a) 10

(®) 2

(7)) 20.

(iil)

The minimum number of owners in a private company is -

(@ 7

® 10

© 2

@ 20

(iv) e P g e o el g = SR o SR R

- AfumER e -
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(iv)

(v)

W

1,2,3,4,5,6,7,8,9,10

(6)

If at given price quantity supplied of a commodity is greater than its

'ql'lantity -

(a) " Pricestarts falling.
(b) Priceof the commodity does not change. |
(c) Pricestartsrising.

(d) Noneof the above. |

ﬁmé‘ﬁmfmmmm‘am—-

('31)-4.5 . ’ | N
() 5.5 |

(|) 6.5

(R 75

Arithmetic mean of following data is -

1,2,3,4,5,6,7,8,9,10

(a) 4.5

(b)) 55

(¢) 6.5

d 175
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(W-—ﬂ);

(Séction -B)
() PemerirEERT-  [iesis]
- (B) Fﬂl in the blanks - :
[6) mﬁ@a@.ﬁ@maﬁmﬁaﬁn%—q--———;— ag
(ij A rr;ajor tragédy téok placé in Bhopal because of the ................... of
poisonqus- gas. | |
(ii) RS FITTTNY e T R |
tii) The use of loudspe.ake‘:r _causes ..................... pollution. -
(ifi) T, AR AT === FEAE |
(i) In India, the cﬁrrency is called e
(iv) aﬁmﬁaﬁm —————————— HEAMIR |
| (iv) Thesellerof insu_rance is éalled .....................
IRt S ey sife T |
March 158 has been .declared zié the ....ovvvrennnns day.
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(ii)

(ii)

(iii)
(i.iij
’(.iv )
(iv)

(v)

) '

®)
(W -W)
| (Section - €)
Tt e fafa -
Write true or false -
s et g T e e ¥ |

Wants are same as desire.

Food, clothing and shelter arenot wants.

wwﬁmwm% |

In free market, the consumer is the king.

S 35 T o A S
Smoking catises many diseases.
AT R TR FEAd R |

In Japan, the currency is called Pound.

[ 1x5=5]
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| (@vs-3T)
@ uﬁﬁﬁfﬁm— |
o
(i) U .(31)
(i) Pl wH (F)
i) 9% | ()
(iv) el ()
. -j(v)> FTET H ()
(Section - D)

(D) . Match the following -
(A)
Consumer security

)

(ii) Natural resources

(i) Bank

(iv) Non-renewable resources

(v)  Currencyof U.S.A.

(®

(b)
- ©
(d)
®

[ixSsS]

(%)

®)

Do‘l_lar
Govefmnent _

Forest

Factory tand
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ﬁé‘w.ammzﬁwﬁaiﬁmgﬁﬂwm%lmmuu ai’ﬁ_amﬁa%‘{

| wﬁmm!ﬂﬁrsomtl

Instruction :- Question No. 2 to 13 are very short answer type question. Each
question carries 2 marks. Maximum word limit of answer is 30
‘words.

uw-2 st sdvre R Fea € ? I 2]

What is Micro Economics ?

wyR-3 o et it fafed | ' | 21

"Write definition of Capital.
y-4 Tt afemerHEm g waRel - - [2]
Write the meaning of Mixed Economy.

¥9-5 gﬁmwm%? B : - (2]

~ Whatdo you mean by Supply ?
| w6 AMiwSREAEERE 2 . o [2]

What -areﬁ-Comn‘lercial banks ?
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(11}

w7 EIRIEERLE X b2 ke ot SR

What do you mean by Primary data ?
U¥T-8  WHIRR W1E 9 ST 1 S R 2

Write the meaning of Arithematic mean.
W9 STl Ieera & R SR & 2

What is Temporary Settlement ?

Te-10 Y e ol fafgn

Define Small Scale Industry.

L]

T-11 T FNEE 2 |

What is Pollutante ?
W¥-12 SR STl 1 31 37 & 2

What do you mean by Consumer Awareness ?

W¥T-13 qafar‘m%a?ﬁa@aeﬁ%ﬁmml -

- Write any two names of main components of environment.

[2]

[2]

[2]

[2]

[2]

[2]

[2] .
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Instruction ; Questmn Ne. 14 to. 19 are very shert answer type questions. Each

e T .

————y

question c,g,rriés' 3 marks. Maximum word limit of answer is 50

it

| words.
T-14 {ﬁaﬂi%ﬁﬁé?ﬁwwwwr' [1+1+1=3] -~
Differentiate between Land and Labour. (any three)
[1+141 ==>3]

15 aﬁdaw&wwﬂmmmﬁﬁaﬁﬁm(aﬁ%m)

Dlstmgmsh between Econemic Growth and Economlc Dcvelopment
(any three) o

m—wfﬁa"?-aﬁma?raﬂwmﬂm:ﬁﬁmm | (®¥ 1)
Dlstmgmsh between Private Company and Public Company (any three)

[1+1+'l 3]

w-17 waﬁm@?«ﬁmaﬁmﬁwwaﬁml(m‘?ﬁw) [1+1+1=3]

Distinguish between Health Insurance and Life Insurance. (any three)

WPI-18 T e 2 T [3]

Whatis Poverty line ? Explain, -
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| 3) |
TOT-19 O ¥ sy TRy 2 | ©[3]

‘What is meant by depletion of resources? -

T T s 20 9 23 s Wl e 1 e X o P 1
uﬁmmﬂuaﬁ?aﬁ&ﬂﬁfmm“?ﬁmnm‘h |

| Instruction :- Question No. 20 to 23 are short answer type qnestians. Each questmn
has an internal eptmn Each quutmn carries 4 marks. Maximum

word limit of answeris7Swords.

W20 aﬁ?ﬁ‘f ﬁnﬁm@rﬁmmwml | [141+1+1=4]
Write any four differences Ab_eﬁveen Goods and Services.
(eEm/oR)
e anfarraaﬁﬂﬁ‘a‘ e v fofer
Write any four characteristics of Micro Economics.
921 e e e i R O [e1e1e1e4]
Wfité any foﬁ characteristics of Economy.

( 3rET/OR )

wﬁﬂﬁﬁwwﬁml

Wr-ite any four differences between Organization and Enterpreneur.

‘231214 7 Y . PT0.



4 -]
[1+14141=4] /

W¥-22 T E B AR wr fafiga |
. Write any four functioné of Money.
( 3rerar)

" (OR)

O S

o e 3 e

e

Write four demerits of Barter System.
wr-23 3 fegmg ﬁﬁﬁm%mwﬁwﬁm— [4]
T | 0-10 {10-20 [ 20-30] 30-40 40-50 [ 50-60 | 60-70| !
TR s |15 | 20 | 25 | 2 15 | 5 -
Calculate arithmetic mean from the data given below : . -

0-10 110-20 20-30| 3040 | 40-50 | 50-60 | 60-70

Series

Frequency | 5 | 15 20 | 25 | 20 | 15 5

- ( 3rerar) i
(OR)

[1+1+141=4]

= AR H a1 frfam (BEER)
Distinguish between Variable and an Attribute, (any four)
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Instruction ..

Questlon No: 24 and 25 are long answer type questlons. Each

question has

an. mternal optlon Each questlon carries 5 marks,

Maxnmum word hmlt of answer is 100 words

ff-'ﬁ—24_ nﬁ%maﬁﬁml(iﬁéwﬁ)' [141+14749=5]

Write the main elements of Demand. (Anyﬁve)‘ ‘
( S7eraT)
(or )

. wramwmmﬁrr@wmw

" Write the features of Monopoly (Any ﬁve)

-25 w@qmﬂ%maﬁwﬁml(ﬁém) [1+1+1414125)

Describe the advantages of Internatlonal Trade. (Any five) .
" (ormr)
~ (OR)
wwmmmﬁmﬁm !

Describe Swarna Jayanti Shahri Rozgat Yojana,
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Ins-!rucfraa Question No. 26 and 27 are long answer type questions Each

qwestion has internal optlon Each question carries

Maximem word li‘l_nit of answeris 150 words.

6 marks.

Uy-26 W%%W%mﬁf@ql(aﬁ?ﬁﬁ) | [2+2+2=6]
~ Givesomemeasurestosolve the prébfem-of Pric.c_risel. (Any three)
| ( 3rerar)
(OR)
e o el e el ) s i

- Explain any three elements of Publié Distribution System.

w27 mmﬁm@mmﬂwwn(mm [2+2+2 =6]
| EXpIamanythreecharactensucs of Indian Economy.
| ()
| _ ©x)
i i e ) e (23 )
 Explain any three importance of Pritary Sector.
.‘..
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